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QUESTION 1

Which underlying protocol(s) does LDP utilize to communicate with LDP Peers? 

A. UDP and TCP 

B. UDP only 

C. LDP uses IP Protocol 646 and does not rely on UDP or TCP 

D. TCP only 

Correct Answer: A 

 

QUESTION 2

How frequently does the WDSYSMON Watcher thread wake up to check counters? 

A. every 500 msec 

B. every 2 sec 

C. every 200 msec 

D. every 1 sec 

Correct Answer: D 

 

QUESTION 3

What is the default MP-BGP address-family on IOS-XR? 

A. IPv6 unicast 

B. There is no default address-family 

C. IPv4 unicast 

D. VPNv4 

Correct Answer: B 

 

QUESTION 4

Which VRFs must be configured on the ASBRs between the two AS\\'es in an Option B Layer-3 VPN solution? 

A. The VRFs shared between the two AS\\'es plus one VRF representing each AS. 

B. The VRFs shared between the two AS\\'es. 
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C. The VRFs shared between the two AS\\'es plus one shared VRF. 

D. The VRFs do not need to be configured on the ASBRs. 

Correct Answer: B 

 

QUESTION 5

Which command is used to redistribute BGP into EIGRP for a Layer 3 VPN customer? 

A. router(config-eigrp-af)# redistribute bgp 65001 

B. router(config-eigrp-vrf-af)# redistribute bgp 65001 

C. rouur(config-eigrp-vrf)# redistribute bgp 65001 

D. router(config-eigrp)# redistribute bgp 65001 

Correct Answer: B 
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